[AA%

5"x8"x 10 1/2"
Spacer Block (S1E 5 1/27)

5/8" x 26" Dome Head Bolt
1- Plate Washer Each Bolt

y

6" x 10 3/4" Glued

3/4" Diameter Dome Head Bolt { ASTM A 325) I 6" 8" 1

Y
3

with 1 - 4" x 4" x 5/16" Plate Washer each bolt l

Laminated Railing

y

120 3 /
T T o]
'1_' ;Qj‘ ;021:3 Dome qi“"_"‘" \--44 1 —— 6" X 12" Curb (S4S) E]
(ASTM A 325) P ) 7
2-6"x 8" x 1/4" Plate N
Washers \ T . - - /
------ -— - | 6" x 12" x 3' - 0" (Typical) Y :- 'y ! /
EQ """ "'4*""/— Scupper Block (S4S) ‘_—\\\ i £, TR "';’
4" Spiit Ring — 7 :— -’: -':. = 7
Connectors { :‘ == R Bituminous \ )/7' 'y L, ' 'l_: ’
I‘ R ATATAT - Wearing Surface "_. o -..-' 'T"-
" 4" Diameter oo v
'''''''''' i ut et St il ol it il Spiit Rings ' ! ' '
g?vexssgke? rgo;ck:(ead :’ “#———— Prefab Timber Deck Panels ————— -: 0: .: .:
Reinforcement at each / \ ?- p=) '@' /
Post Location / 3/4" x 28" Dome Head Bolts
ASTM A 325
8" x 12" Railpost typical 1- 4" x 4" x 5/16" Plate . L . _
10" x 12" Railpost at rail splice washer Each Bolt 3/4" x 30" Drive Spikes 11" —pol— 11" —p]
Deck Reinforcement
SECTION AT RAILPOST
NOTE: CURB AND SCUPPER DETAI
All timber to be Douglas Fir. The stress grade = UPPER D L
as follows:
Rail Posts - Post and Timber, Dense Select Structural DE.S'GN NOTES: .
Curb and scupper - Beams and Stringers , No. 1 Rail posts spaced maximum of 6 feet. .
Pre-Fab Deck Panels - Joist and Plank, No. 1 Tabulated design values for the strength properties
Glu-Lam Rail - 24F -V8 of the timber components are to be modified where
The prefabricated deck panels to be dowel laminated Appropriate using Duration-of-Load Factor ( 1.65) for TREATED TIMBER
using 3/8" x 15" galvanized dowels. minute loading. BRIDGE GUIDE RAIL SYSTEM

Figure B7.66. Glu-Lam Wood Rail on Wood Deck (20,97).

The railpost to curb and curb to deck dome head bolts

to be made from ASTM A 325 steel. All other hardware
to be ASTM A 307 steel.

LONGITUDINAL DGWEL LAMINATED DECX



Dan F Wolford
Figure B7.66. Glu-Lam Wood Rail on Wood Deck (20,97).

Dan F Wolford
472


€LY

A7 3*x2.5'%1/4
“or 3°@ Vashers -

~ \'Block  \
B* & -23*

Glutam Rail SP .48
{ 6-3/74" X 12%

Done head bolts T\

8'x%  \]
Douglas -Fir- 7 SY 4

1l
i

=3 o
374° DIA BOLTS

nod) Tmber Post
84°x9%* 0’
Stef‘l gox-SMp

l-

1e°

|

L P e
51-8_' p bolt / i

378 I\ M 4
bO £ L s. ~/
. top & bottom
93:x2'x}’ botton i
steel strap I
+—+ 28 U-Shape
. fastener

PLAN VIEVW

18"

_..........|\ Stcet Struagerf‘,__g.

'57°
SECTION VIEW (A-A)

lIIIIIIIlllIIIIIIIIIIlII !III!

ELEVATION VIEV

Figure B7.67. Timber Bridge Rail, System 1 (9'8,99).

Notes
Structurot steel -A-36
Hordware A-32%

Al the hotes for the connectors

shall be 1/16° lorger than the
corresponding bolt diameter


Dan F Wolford
Figure B7.67. Timber Bridge Rail, System 1 (98,99).

Dan F Wolford
473


1ZA%

3’2 1/2')‘1/4' 6-75’)(12-0-'

or 3"¢ Woshers)\ 2.1/4°x8°x]28° h Lihd
‘Block / Glulam Roll (SP48)

A307, 7/8° Do, 23° f.ong
Dome head boitsh

q-——d—d=m) ! A
YP/ 8 %9" . .
go.f tos Fir lorch sondbe o it | i 4 - 7/8'9 Dome head boits
(no.id Timber Post 7
- e weo - - ". , 6'x12' Curb 7’ A307, 3/4' . QlV(_!anEd_
" =k 6"x12"%2’ Block [ heod.
6'%x67%0.5" steel plate I e )‘/ 5 Veart '
' ' B “ Wearing .
16— 40 / LI ~ Surface l
SPUt  —t e e VO e G TV
Rings : 3 . 1] T
| = I N
4 i it |
NI— -. = e '1_"__- T = - ul- / = . u 5/8. ﬁ#l;ngl .' L4 H
Bottom Siteel ) k/ - - Bolts, 3 [Ohg‘
plate Aluminum: Decll [——= ;
(Detall A Broacket ..‘- == . MC BxB. . —=3
E==" -Daphrogn 1o} [
|-_—_ 18* ____#__#,_ - Glulam .Ream ' -
/8
. =6 |
SECTION VIEW (A=A Bolts,9" long

Figure B7.68. Timber Bridge Rail, System 2 (100,99).


Dan F Wolford
Figure B7.68. Timber Bridge Rail, System 2 (100,99).

Dan F Wolford
474


VA%

x8’%x12"

Block i

8"x9”

Douglas fir / SYP
{no.l)> Timber Post
8 ng .rx w o Kiside to)

Steel _]t30><~So
racKe
3/8° \g"

il

n i
T
I H
FEWR e |

fl

TS 4"x3"x3/16"

/" |(Fy = S0ksi
é?j\le' Ga. "W’ Sections

' 3/4" Do Bolts
fe— 12° —-]_ ; i, 12* Long Galvangzea

Steel U-Shape Post-

ig*

top & bottom

9é‘x2"x$' bottom

steel strop

Surface

B +to-Deck Fostener (3/6")
2" Wearing

A307, 3/4" Dia, 12" Long Golvenized
bolt with Econcomy Head

AT T T T T T 7
i\~ Shear pLATES H }
| ¥
i 11

6 3/4°

l

i1
|

\
f //T,{(///Sé///J
I H ’
I

Qéﬁl** Steel *c” clips /ﬁi¥j

5/8" -3t =1§
olts H

MC 8x8.5

: L

2

BS

ﬁ;?'3"\\—Dmphragm '

Steel Stringer
W 24x84

' l1o”

Al M

2

P
‘x4‘ "
]

57"

SECTION VIEW (A-A)

Figure B7.69. Timber Bridge Rail, System 3 (101,99).


Dan F Wolford
Figure B7.69. Timber Bridge Rail, System 3 (101,99).

Dan F Wolford
475


9.V

Steel Raill

Steel thrie beam /—W150x22 steel block

b)Y

(€= ©o o

813 7 °°

——W150x22 steel post

End View Front View

Figure B7.70. Steel System, Thrie Beam on Steel Posts (102,103


Dan F Wolford
Figure B7.70. Steel System, Thrie Beam on Steel Posts (102,103).

Dan F Wolford
476


LY

Glulam Timber Rail with Curb

171 mm glulam rail "\ 121 mm spacer block

267 ¢ P P —
e S O
-——Nominal 203 x 203 post
813 Nominal152 x 305 curb
-~ ? | ~ O ~
SE Nominal 152 x 305 SEpss -G
%t _____ % scupper % EIE-E3E EE-EIE
g~ 1 i
End View Front View

Figure B7.71. Curb System, Glu-Lam Timber Rail with Curb (102,103)



Dan F Wolford
Figure B7.71. Curb System, Glu-Lam Timber Rail with Curb (102,103).

Dan F Wolford
477


8.V

Glulam Timber Rail without Curb

171 mm glulam rail\ ﬁ146 mm spacer block

343

End View Front View

*Dimensions in mm.

Figure B7.72. Shoe Box System, Glu-Lam Timber Rail without Curb (102,103)


Dan F Wolford
Figure B7.72. Shoe Box System, Glu-Lam Timber Rail without Curb (102,103).

Dan F Wolford
478


6.V

Steel Rail

Steel thrie beam

W150x22 steel spacer

G o o

GG o o

51 mm thick G

wearing surface \ ——W150x22 steel post

End View Front View

*Dimensions in mm.

Figure B7.73. TBC-8000, Thrie Beam with Stiffened Steel Posts (104,105)


Dan F Wolford
Figure B7.73. TBC-8000, Thrie Beam with Stiffened Steel Posts (104,105).

Dan F Wolford
479


*
!
:
EeREEREE

|
i
EsREsRE

Front View

|

i

Nominal 203 x 305
*Dimensions in mm.

scupper

T

L. 1

——Nominal 203 x 254 post

/——Nominal 152 x 305 curb

F

Glulam Timber Rail with Curb

™
4

Ll

(9p]

s

i
=
S

&
£

[3

171 mm glulam rail \ [-——}-121 mm spacer block

838

480

51 mm thick

wearing surface \

1:&'-

End View

Figure B7.74. GC-8000 Glu-Lam Timber Rail with Curb (1(


Dan F Wolford
Figure B7.74. GC-8000 Glu-Lam Timber Rail with Curb (104).

Dan F Wolford
480




